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Name Analytic Geometry

Date Period FBM3 Review

Basics of Geometry

Solve the equations.

2 .
D3x-1+3=9 2)(x+4) =5
Dx-5ro=] N T i

3) The Pythagorean Theorem is c2 = a? + b2. However, you are often given the theorem a different way (a® + b? =

c?). What property allows the use of this order? SWW \C V fUpiﬁ\/a/

4) How would you explain the difference between a “statement” and a “reason” in a proof?

Ctratumants= Faas | Stops
reasuns = why fads oL yuls
‘ustify the following statements:
5) Ifx=100, then 100=x.  { WYYLUY iC
6) If AB=CD and CD=FEF, then AB=EF. TYO(j N V4
7)IK=IK___ {QHeXi VL
8)1£x=30, then 2x=60.__(NULL | plicauion
9) If 5x=20 and x=4, then 5(4)=20._ SWHSH T ;N
10) If x=y, then x-5=y-5. 5 ALTYO (1

dgbininans, Pams, &8¢

11) There are 3 angles in this diagram, name each angle. 12) Mark the figure with the given information.

L RST WE =7z ~———
LQ.SP ZW = XY v
LWVX = 2YVZ
ST

~ I
LWZV = 2YXZ i v
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Find the measure of the angle indicated

| / o\ -

>

S
2/ . - -

A) 120° B) 130° A) 95° By 117°
Y 100° 1150 ) 101° D) 62°
13 @ 1000 | D15 ) 5 O D) 62 ]

Solve for x.
)
. , ‘
11x+1s//'/ /
//// / - «< 95:|_.\r+92 N
sl /// | //v I( . N
‘/Y / 13/_/; N / - . -
7 [Dlp=l2x-d N
@ B) -2 A A) 6 B) -5 |
15 2 D7 =0 16> 7/ D1 Ygardo=\¥0 (
X=4 Y+ €T =150
X - -7
17) Solve forx and y 18) Solve for every numbered angle
L]=119°

é_a:]l‘/oo

2457 148”7
24> 237
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74 Module a; Congruence ang Triangles '
|

,’éo) If ABAX = ATER, name the six congruent pairs, < B= 2T AT
Ax

A A D X ": E_.Y-L
o1 /X ¢ R X =TrR
- Apply the dilation D to the polygon with the
given vertices. Name the coordinates of the image
paints. Identify and describe the transformation,
Di(x, y) — (4x, dy) \ ' 7l
W, -2
A(2.1), 8, 1), C(a, -3) A (G Bl i ot H
. . Cole
Dilation by o S fpeker
) -
r
c D //\‘\
X 2 ao%x;leo - 7 16x+3 N

- _‘t/ 33 \G
\B ~ ’@00 D E 2
8o X A) 10 B) 12 1h¥2¥32= 11X
¥
< )

22) 23) Find m< o “0’;*3:" 1;:‘
w =
v
22 ()= @ §=

Write a rule to describe each transformation.

ion: : -1 v= A) reflection across y = |
@ranshlanon.”(x, ») - (-1, y=4) .. B) rofation 90° counterclockwise about the
) rotation 90° clockwise about the origin origin
C) rotation 180° about the origin C) translation: (x. y) — (x— 2,y- 4)

24) D) reflection across the y-axis 25) gﬂecﬁon across x=2
)

S [ S

|

=

]
{ 1

-

Rt L. .4 —
| I

|
|
3
i
!

0 ! A) lro;agion 90° counterclockwise about the

ongin A) reflection across the x-axis
B) rotation 180° about the origin B) reflection across y =—2
C) translation: (x, _v) — (x+ 1, v—- 3) C) translation: (.r, y) — (x+ 1,v+ 3)
D) translation: (x, ¥ = (x——3, y— 2) rotation 180° about the origin
26) 27)

%L i i
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28) The measures of the angels of a triangle are 2x -+ 10, 3x and 8x — 25. Solve for x.

2XH0 + 3% +§x-25= 180

\Dx -1D= 10

Module 5: Proving Triangles Congruent

29) List all of the ways that you learned to prove triangles congruent. (| § SAS ASA, ARAS HL

30) What does CPCTC stand for?

Convegponding pouts O Congrinent Hriangles are (ungmeont

State if the triangles are congruent. If so, state the reason.

p
\ e
-

N
—@Not congruent B) HL
C) SSS D) SAS
31)

A) Not congruent B) AAS

C) SSS D) SAS
33 © )

Given: C is the midpoint of AD and BE
35) Prove: AABC = ADEC

N\ L \\

A) ASA B) Not congruent

[©sss) D) aas ')
32)
H 7
N
rA— |
A) ASA B) AAS
[©HL ) D) SSS
34)
Statements Reasons 7
C i§ v midyprp £ %3 VLN !
) def. of midpt 4
pc=Ct def oy midpt |
LAWY T LDCE it . (§ Qe = |

Appt € ADEC SiS
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14736)

Given:
,Z‘\

AC=EC
C bisects BD

Prove: AB= ED
A B
C
AV
D E

Statements Reasons ]
AC =EC nyuN
— C_biled B0 | gnvem
b= o ouf .o pifeck
LAUHE LELD Vit 25 oun =
DA AED SRS
AP =ED wa G

37) Draw an isosceles triangle and label its angles anu siues.

base angle and the vertex angle?
ﬂ

,‘9)

/ A
/05 65°\

r/

A) 33° B) 29°

Module 6: Special Points and Segments in Triangles
42)

x+23 W

20t 19) =x+ 5
2x +30= X427
==\

VX <
7/' 1t9

38) In an Isosceles triangle, one of the base angles has a measure of{ 20°. What are the measures of the other

Hew £ = IH0°
hase £ = 20°
40) 41)
ms2=x+67
I§0 - 29.= \uf% Y+ = o
/ x=-"1
‘&‘*_7 ///2\
/ \
. [N
~ //
a) 53° /
2) 97° D) 8§7° A) -7 B) -8
) -11 D) 11

2 (a2 = X ¥4

43) Uyt =%F 2 44) Find VX, HJ, and m2VWH
Find EG 5";;,,% YR
K HTE o+ 0
ALK ERT!
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45) Solve for a 46) Find BC 47) Find UV ‘w.,»
AT -
Y o
~— m 3x -+ 9 7x — 17
of
12 L/ -
T w Vv

3otao = Qat 2 be=A4 W= Tx-17

[oc ] A=

X= 2
Module 7: Proving Theorems about Parallelograms
48) Solve for x. 49) Solve for x.
RT=14 ' /1:7-0;*‘*—__7 v
UT=x+2 s e
/ P
o “40° v qbxtuo = 1§0
1"
- T
A) 3 L% ’“) X = lH'D ‘\ :
A D) = 1+ Syl
& Axt+H= |4 X=5 X

X= 10
50) Name the 5 properties of a parallelogram.

DOPP sides owe ’Pcualw 6)@0/)“(/[,@1\& LS e

D opp. Sidust Cae = U p It
3) opp- LS oue =

1) diagunods  Vijedk gaun oy

ABCD is a rectangle. AD=30, DB=26, m£BAE = (3x + 2),mzDCE = (6x — 7). Find each of the
following measures.

X A= ox ="
a=3%
51) A[Ej 52) meADC 53) m<BAE ‘ 54) BC
Gy anta=[1] )
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¢/ PQRS is a rhombus. The m2STR = 5z + 10 and the msTRS = 30°

. Find each of th i
measures. ¢ following

55)z H2+10=90 56) x UXHO’-"“"% 57) SR 58) m£SRQ

e fza ) be

Module 8: Similarity

39) What is the definition of similar figures? Scuvl  §V\ape, bur  nor ™ s§ il Sl.
(ﬁra Yooy ng f] te

CUV\OrYuu/ﬂ+ “r§ g,(,UYYeSpw‘dmfj Sides  Cue propuv‘hw\ﬂv

60) What are the 3 ways you learned to prove triangles are similar?

¢SS, SAlr, AR

,‘4) Solve for x. 62) Find the missing length in the similar triangles.
. , .
20X Lt [ 1%
o T\ { j \ — <t
\"/ 17 ’)(,
21X HA iy |
= A ;<—-—“ " \X= 'OD !
x 14 - 77
/\ pis  [po | Xz al
3 2z C) 136 D) 73

State if the triangles are similar. If so, state the reason and the similarity statement.

% ‘ v ) 7 Ly =42 . 2
\ / 104 A [OH =
65 S N
) 7 : S~ T 1es v
o LS s
y Ly
! 7~ 1/1.
AUVIV ~ ASTU~ S
/. A) similar; AA similarity; AUDC A) similar; SAS similarity; ASLK
B) similar; SSS similarity; AUDC B) /not similar
C) not similar C) similar; SAS similarity; AKSL
63)@similar; AA similarity; AUCD 64) D) similar; SAS similarity; ASKL
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Module 9: Right Triangles

}Q/) Draw and label cach of the special right triangles.

66) What is the Pythagorean Theorem?
£+ %= ¢
Find the missing side lengths. Leave your answers as radicals in simplest form.

sceN X an:
y 2840 - . 50°
Al ‘ f~ 45 A
5 . sV2
\» @
\

svE N 4 3
B 5% by

12 ft 5
g m
;ﬁ\ // 4 mi B X I //
N\ - X .
N \/Emi * " 15m
71) L} 72) S 73) S
A . .
ya= M gt 1=

A = 0O
(7605 \[l,m—,ﬁ? 14} 1= AR
X={as

N
NI 4
Module 10: Trigonometry ﬂX’ \@‘{ 4

N R .\\?
37
74) What is the sin 51°? 137 7 75) 93
]
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S— -
e R L A i S e, e s
e T - g ey e N N D

T e T e e T e
5

/\
85,/ 4
N /

T
18/ e /
77V

PSS

’ | 78) .
5mHO=7g gmlt%

/X:S\'JVT‘E: @ X=0ipn” (3?69

-

v_ 15
165 m AHN/)X"?D
S =1 (Mé)
50'm )\: Yo 5H0

An observer in a hot-air balloon sights a building that is

50 m from the balloon’s launch point. The balloon has _
risen 165 m. What is the angle of depression from the =
balloon o the building? Round to the nearest degree,

[ 4

Module 11: Area and Volume

80) A globe has a diameter of 12 inches. What is the
= Yigny 3
2 v .2
=M e) = YN o~ ) pgrin

Find the Volume of the following figures:

2 V=500 B g2 <l P 83) \/73L”1Yr h
o ;(QU( = (Y- 12 = ?g
VO (Vo)

= | 2 )
E ( - ey N =2 (11P00)

= (3vin’ 2 y - Iel B Q// 5L

] /4 <o \,é/ - 34\ 327

/ /171; 12in $\7~ - yd/\ /

S/ S B 313nye |

volume of the northern hemisphere?

bty » ; B) 1365331 yd®
4 in
< " ; ~ . . < a A3
s A) 538in®  (B) 768in° | ©) 208.73m yd
S C) 593in® D) 605 in’ D) #4897 yd

©

$=4ny2 \z Yy
84) Find the surface area of a sphere with a volume of 9727 f¢3.

St A=

2
_ ) 11Aa=1r
= A4y 4 .o

R e—
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? Geomelry Name
Assignment

—  ___ID:1

@ Dill(}__\ Period
' Find the length of each are.
1) .
L=2nr e
31s° A0
11in WZ’\YUD@ - 119,297 I
A0
Find the measure of the arc or central angle indicated. Assume that lines which appear to be
diameters are actual diameters.
2) mAE _
D spe
C
E 64°
(A ’
A
Solve for x. Assume that lines which appear to be diameters are actual diameters.
3) -
19x-5 " FIX -H”?X'c)‘\* I5x-5= 5(00
e s |9%-D ¥AxxsS 19

10X - 5=5v°
9x+5 ’]%%‘/%lﬂ6

Y9 @
5+ 11x

Find the area of each.
A

81,{(%;9\7\\-( H;TT(Q

: 4) circumference = 245 km
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Find the diameter of each circle.

5) area=16m kr'n2 9: ”\TYQ’

IV S S e
(24

Find the length of the segment indicated. Round your answer to the nearest tenth if necessary.

N

6)

o

‘)C} - \%39\"9" |\
7@\ - 5\}'1‘5

Find the measure of the arc or angle indicated.

7) Find mVX
:

M

K R-qr ot 148 30

Y D
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Find the measure of the arc o angle indicated.

‘ tangent. Assume that lines which appear tangent are
Y - 10)
2 J K D M
y (U N
- 200 ° ?
126 © @"lﬁé—:—x‘: Llo 00 '/‘
M
|2t 1=V :
—x= MU QWL o
(x=ul | > ”
Find the area of each sector. Q00 +7{:’),_% O
= QU
A=mrria (=59
300

Zr(n) 3_%2_09: don -

’3 Solve for x. Assume that lines which appear tangent are tangent.
13 14
: o 1 0% g HE ) Y
#3000 = ADVHHYL

EIVERT

Solve for x. Assume that lines which appear to be tangent are tangent.

15) |
\3x- 1 =llxr S
N FX=
Y *x=2)

Scanned by CamScanner



